V&R3-4-2-16 #T/KKEREER (FRR245FEE)

(R xRER)
(1) BERFAEHER
- . — , iRz AE
BREE SRS AN R R R (i me/L)
Cd Pb As PCE Se N-NO;, F B
FEK 6 0 (0) 0 (0) 1(1) 0 (0) 0 (0) 6 (0) 1(0) 5 (0) As:0.014
2R 7 0 (0) 1(1) 1 (0) 0 (0) 0 (0) 7 (0) 4 (0) 7 (0) Pb:0.087
wWeEm| &# %K K 8 0 (0) 0 (0) 1(0) 1 (0) 0 (0) 8 (0) 1(0) 8 (0)
X B R 7 0 (0) 0 (0) 0 (0) 1(0) 0 (0) 6 (0) 1 (0) 5 (0)
2 K 6 0 (0) 0 (0) 1(0) 0 (0) 0 (0) 5 (0) 3 (0) 4 (0)
A & m| &b £ H 1 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1(0) 0 (0) 0 (0)
& Kk | & 4 H 1 0 (0) 1 (0) 0 (0) 0 (0) 0 (0) 1(0) 0 (0) 1 (0)
ER | £ £ 1 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1 (0) 0 (0) 0 (0)
KK Hl = X K 1 0 (0) 1(0) 0 (0) 0 (0) 0 (0) 1 (0) 0 (0) 0(0)
o FEf K A 1 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1 (0) 0 (0) 0 (0)
W ot Bl kR T 1 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1 (0) 0(0) 0(0)
e HE| 4 R 1 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1 (0) 1 (0) 1 (0)
K # B[ I A 1 0 (0) 1(0) 1(0) 0 (0) 0 (0) 1 (0) 1(0) 1(0)
=N X 1 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1(0) 0 (0) 0 (0)
& &t 43 0 (0) 4(1) 5(1) 2 (0) 0 (0) 41 (0) 12 (0) 32 (0)
(E)Cd: ARSH L, Pb:$A, As: R, PCE: TS V00T FL Y, Se: 2L N-NO,, B B R R U EHMMER. B: 15K . F: 50F
(2) MEERRAEEE
L R o wm O (5 5 8 @& ) #H F # # %’:@Hﬁﬁﬁﬁ
# K& Pb cr** As CCl, | 1,1-DCE | 1,2-DCE |1,1,1-TCE[ TCE PCE NO;, | (Bfi:mg/L)
FEEK 2 0 (0) 0 (0) 0 (0) 0 (0) 1(0) 1 (0)
cr*t:0.07
EHEHEX| 9 2 (1) 2 (1) 0 (0) 0 (0) 0 (0 0 (0) 1(0) 3(2) As:0.049
NO; ,:49
L
WEM) o x| 4 2(2) 0@ | o@ | o | o | 2 o
A B R 2 0 (0) 0 (0) 0 (0) 0 (0) 0 (0) 1 (0)
5 K 7 22 5 (5) ﬁ%ffé?
= B 1 1(1) As:0.099
BB 0
B E B H H 1 1(1) NO;,:12
tyEE E3] 1 1 (0)
=XRKmaH| 1 1(1) As:0.018
K | & Il & 1 1Q1) As:0.07
T XE 1 1(1) As:0.052
= E® o FEEHFR] 3 0 (0) 2 (0) 0 (0) 1 (0) 3(3) PCE:2.3
SOREED] 2 0 (0) 0 (0) 0 (0) 0 (0) 2(2) PCE:0.018
SABH| B % 1 1(1) As:0.019
. & H E 1 1 (0)
4 R O OE 1 1 (0)
L 1,2-DCE:0.066
* 71 Bf| B fiE] 5 0 (0 1(0) 2 (1) 1(0) 3 (M 3(2) TP%EE.%%GE
BHEXFE 2 2 (2) As:0.017
= it 46 1(0) 2 (1) 13 (12) 0 (0) 1 (0) 4(1) 1 (0) 4(1) 12 (8) 14 (8)

() Pb: 38, Cr

St KO L. As: Btk CCl,: miE{ER . 1,1-DCE: 1,1->4#OAIFL >, 1,2-DCE: 12—~ O0ATFLY>. 1,1,1-TCE:1,1,1—yoOQITAY .
TCE:R)/OAIFLY ., PCE:ThZYOO0IFL 2 NO,, MU ERRUVBEBEMLEER

(3) B HPFRADMXAEEE
) B (55 :8)
FEHAFPEDHMXAER Hh 5 3 HEHH BBz K(E
Hh X %4 (B :mg/L)
Pb As
me | 7FEK 1 0 (0)
M =BR[] 2 1(1) Pb:0.025
=) it 1(1) 0 (0)




